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QUESTION 1

Which of the following directories contains information, documentation and example configuration files for installed
software packages? 

A. /usr/share/doc/ 

B. /etc/defaults/ 

C. /var/info/ 

D. /doc/ 

E. /usr/examples/ 

Correct Answer: A 

 

QUESTION 2

A. l 

B. x 

C. e 

D. q 

E. ! 

Correct Answer: D 

 

QUESTION 3

Which of the following DNS record types hold an IP address? (Choose two.) 

A. NS 

B. AAAA 

C. MX 

D. A 

E. CNAME 

Correct Answer: CD 

 

QUESTION 4
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Which of the following permissions are set on the /tmp/ directory? 

A. rwxrwxrwt 

B. ------rwX 

C. rwSrw-rw-

D. rwxrwS--

E. r-xr-X--t 

Correct Answer: A 

 

QUESTION 5

Which of the following statements are true regarding a typical shell script? (Choose two.) 

A. It has the executable permission bit set. 

B. It starts with the two character sequence #!. 

C. It is located in /usr/local/scripts/. 

D. It is located in /etc/bash/scripts/. 

E. It is compiled into a binary file compatible with the current machine architecture. 

Correct Answer: AE 
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